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/ MPa /K H/ (kI'kg™) S/ (kJ’kg"K™)
0 0.101 298.15 104.6 0.3648
1 1.0 179.0 2773.6 6.5835
2 7.0 284.0 2768.1 5.8103
Ex,l = (Hl _Ho)_To(Sl _So)
=(2773.6 -104.6)—298.15x (6.5835 - 0.3648) = 814.9 kI kg
Ex,2 :(Hz _Ho)_To(Sz _So)
=(2768.1-104.6)—298.15x(5.8103 - 0.3648) = 1039.9 kIkg'
298.15 K
7.0 MPa
1.0 MPa 27
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6-1 Ty, 298.15K P,=0.101 MPa
Al A1203'H20 H HZO
Ar yArZO.Ol N yN2:0.78
C CO, Na NaCl m=1 mol'kg”
Ca CaCO3 (0) y02:0.21
Cl CaCl, m=1 mol'kg” p Ca3(POy),
Fe F6203 S CaSO42H20
6-1 C Ty, 298.15K Py=0.101 MPa CO,
6-1 0 T, 298.15 K P,= 0.101 MPa
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AS m,S, + my,S; —m,S,
= 439.3x6.8381+ (3500 — 439.3)x 1.84208 — 3500 x 2.42460 = 155.93 kI'K
AS =0 kg
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=13.28 kIkg'K'

4
H -H,=H,—-H,
H,=H +H,-H,=897.66+653.10-874.02 = 676.74 kJkg"
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mH, =m,H, +m,H, =m,H, +(m4 —mz)H3
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